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Q1.24% of 480 + 30% of 270 + 48% of 10 = x
(a) 190

(b) 195

(c) 198

(d) 201

(e) 205
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Qz.\/mx% of 26 + 1024 x5 + 4 = x
(a) 1261

(b) 1332

(c) 1164

(d) 1020

(e) 1380
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Q3.x% of 360 + 72 +§ of 315 = 28% of 625

(a) 1600

(b) 1700

(c) 1800

(d) 1750

(e) 1850
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Q4.841 + 116 x 4 + 256 /x = 1082 + 2
(a) 4

(b) 9

(c)16

(d) 25



(e) 36
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Q5. 68 x 24 - 2% of 1600 = x>
(a) 36

(b) 38

(c) 32

(d) 29

(e) 40
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Q6.28% of 85 + 13.2 =?
(a) 35

(b) 37

(c) 39

(d) 41

(e) 43
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Q7.§ of 58 +§ 0f139.2 =?
(a) 133.4

(b) 137.2

(c)127.8

(d) 131.6

(e) None of these
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Q8. Y17576 + 14096 =7
(a) 42
(b) 44
(c) 46
(d) 48
(e) 50
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Q9.84368 + 65466 — 72009 — 13964 =?
(a) 61481

(b) 62921

(c) 63861

(d) 64241

(e) None of these
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Q10. 12% of 555 + 15% of 666 =?
(a) 166.5

(b) 167.5

(c) 168.5

(d) 169.5

(e) 170.5
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Q11.572 + 26 x 12 -200 = (2)°
(a) 5

(b) 6

(7

(d)8

(e) 10
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1 5 7
Q12.41L5— 23 =7 —15
(@)3;

(b)3=
7
(9] 213—2
(d) 3
()5
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Q13.36% of 245 - 40% of 210 =10 -?
(a) 4.2

(b) 6.8

(c)4.9

(d) 5.6

(e) 5.8
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Q14. 4345+5625+7125-3345=7
(a) 11,750

(b) 13,750

(c) 12,750

(d) 10,350

(e) 14,450
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Q15. (/80 +5x8+ (17 x5)-17)) + V343 =7
(a) 36

(b) 32

(c) 25

(d) 16

(e) 49
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Solutions

S1. Ans.(d)
Sol.

2t 480+ =2 w270 + 28 L 10
— X X X =
100 100 100 x

x=24X48+3%x27+48
x =115.2+ 81+ 4.8
x = 201

S2. Ans.(b)
Sol.



4 1024 x5
x=19X—=X%X26+———

38 4

x=4x13+ 1280

x = 1332

S3. Ans.(b)

Sol.

X (390, 2 315- 28 L62s

100" 72 7 , 100

X

2x—0+2>(45 —£X625

20 +90 =175

X _gs

20

x = 1700

S4. Ans.(a)

Sol.

841

%x4+256\/§— 541

=9 + 2564/x = 541

256x = 541 — 29

256+/x = 512

Vx =2

X=4

S5. Ans.(e)

Sol.

68 X 24 2 1600 = x2

X —— X =

100 x

x?> =1632—32

x =40

S6. Ans (b)

Sol.23.8 + 13.2 = 37

S7. Ans (a)
Sol. 81.2 +52.2 = 1334

S8. Ans (a)
Sol. 26 + 16 = 42

S9. Ans (c)
Sol. 149834 — 85973 = 63861



S10. Ans (a)
Sol. 66.6 + 99.9 = 166.5

S11. Ans.(b)
Sol. 27 =572 + 26 =22 x 12 =264 - 200 = 64 = 2°
Or,?=6

S12. Ans.(a)
Sol.?7=(4+1-2)+(5+=-3)

_ +(6+7—10)_ 1

B 12 T4

S13. Ans.(e)

Sol. 36% of 245 = (40 - 4) % of 245

= — X 245 4><245—98 9.8 = 88.2
5 100 R

40% of 210 =§x 210 = 84

Difference = 88.2 - 84 = 4.2
7=10-4.2=5.8

S14. Ans.(b)
Sol. 7 =4345+5625+7125-3345
?=17095-3345=13,750

S15. Ans.(d)
Sol. V7 =196 + 7
=14 +7=2
=7?7=2%=16



